
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

TRIGONOMETRIC IDENTITIES

Others

1. Prove the trigonometric identities:

Watch Video Solution

− = −
1

secA + tanA

1

cosA

1

cosA

1

secA − tanA

2. Prove the trigonometric identities:
 If 
 prove that 

Watch Video Solution

Tn = sinn θ + cosn θ,

=
T3 − T5

T1

T5 − T7

T3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_be2HZ3tPjbnA
https://dl.doubtnut.com/l/_Y7gDO0ultRy7


3. prove-that-1-cota-tana-sina-cosa-seca-cosec-2a-coseca-sec-2a-sinatana-

cosacota

Watch Video Solution

4. If  and  ,prove thatÂ  :


.

Watch Video Solution

x = a secθ + b tan θ y = a tan θ + b secθ

x2 − y2 = a2 − b2

5. If  and 
 Prove that :

Watch Video Solution

cos θ + sin θ = 1
x

a

y

b
sin θ − cos θ = 1

x

a

y

b

+ = 2
x2

a2

y2

b2

https://dl.doubtnut.com/l/_Y7gDO0ultRy7
https://dl.doubtnut.com/l/_ApWcc12tj94E
https://dl.doubtnut.com/l/_d6SYdP3Kq4vW
https://dl.doubtnut.com/l/_uhM0RQsqWoT0


6. If 
 Prove that : 

Watch Video Solution

cos ecθ − sin θ = a3, secθ − cos θ = b3,

a2b2(a2 + b2) = 1

7. If 
 ,

then prove that:


Watch Video Solution

a cos3 θ + 3a cos θ sin2 θ = m and a sin3 θ + 3a cos2 θ sinθ = n

(m + n)2 / 3 + (m − n)2 / 3 = 2a2 / 3

8. If 
then show that 

Watch Video Solution

3 sin θ + 5 cos θ = 5, 5 sin θ − 3 cos θ = ± 3.

9. If  and 
 Prove that 

Watch Video Solution

a cos θ + b sin θ = m a sin θ − b cos θ = n,

a2 + b2 = m2 + n2

https://dl.doubtnut.com/l/_qaPTgqVsHzxT
https://dl.doubtnut.com/l/_pVWrBBdScIye
https://dl.doubtnut.com/l/_b3ApGEJ09TSL
https://dl.doubtnut.com/l/_iKeBWH78JX27


10. If 
 Prove that:


Watch Video Solution

cos θ + cos2 θ = 1,

sin12 θ + 3 sin10 θ + 3 sin8 θ + sin6 θ + 2 sin4 θ + 2 sin2 θ − 2 = 1

11. If , then Evaluate 

Watch Video Solution

cot θ =
15

8

(2 + 2 sin θ)(1 − sin θ)

(1 + cos θ)(2 − 2 cos θ)

12. Prove the trigonometric identities:

Watch Video Solution

+ = 1 + tan θ + cot θ
tan θ

1 − cot θ

cot θ

1 − tan θ

13. If 
Prove that : 

Watch Video Solution

sin θ + cos θ = x, sin6 θ + cos6 θ =
4 − 3(x2 − 1)

2

4

https://dl.doubtnut.com/l/_iKeBWH78JX27
https://dl.doubtnut.com/l/_yitvqpxI8SDF
https://dl.doubtnut.com/l/_BdaQd6CvINXG
https://dl.doubtnut.com/l/_EjNeuYqdS438
https://dl.doubtnut.com/l/_Mbcw5pQXFD7G


14. Prove the following identities:

Watch Video Solution

= 2( )
(1 + sin θ)

2
+ (1 − sin θ)

2

cos2 θ

1 + sin2 θ

1 − sin2 θ

15. Prove that 

Watch Video Solution

(1 − sin θ + cos θ)
2

= 2(1 + cos θ)(1 − sin θ)

16. Prove the following identities:

Watch Video Solution

(sinA + secA)
2

+ (cos A + c o s e cA)
2

= (1 + secA cos ecA)
2

cot2 A( ) + sec2 A( ) = 0
secA − 1

1 + sinA

sinA − 1

1 + secA

https://dl.doubtnut.com/l/_Mbcw5pQXFD7G
https://dl.doubtnut.com/l/_rDnORCX8mtou
https://dl.doubtnut.com/l/_kp0SBMnmv3xo
https://dl.doubtnut.com/l/_Uzgg08ywhwx9


17. Prove the identity:

Watch Video Solution

(1 + tanA tanB)2 + (tan A − tan B)2 = sec2 A sec2 B

18. Prove the following identities:

Watch Video Solution

2(sin6 θ + cos6 θ) − 3(sin4 θ + cos4 θ) + 1 = 0

sin6 θ + cos6 θ + 3 sin2 θ cos2 θ = 1

(sin8 θ − cos8 θ) = (sin2 θ − cos2 θ)(1 − 2s ∈2 θ cos2 θ)

19. Prove the following identities:

Watch Video Solution

tan2 A − tan2 B = =
cos2 B − cos2 A

cos2 B cos2 A

sin2 A − sin2 B

cos2 A cos2 B

+ = 0
sinA − sinB

cosA + cosB

cosA − cosB

sinA + sinB

https://dl.doubtnut.com/l/_XamyjXXbYff7
https://dl.doubtnut.com/l/_xsePjSBUT3u5
https://dl.doubtnut.com/l/_GfujmNckgQ4o
https://dl.doubtnut.com/l/_3FbaxTHc9jxu


20. If  show that 

Watch Video Solution

cos θ + sin θ = √2 cos θ, cos θ − sin θ = √2 sin θ

21. If  and 
 show that 

Watch Video Solution

tan θ + sin θ = m tan θ − sin θ = n,

m2 − n2 = 4√nm

22. if

Prove that each of the side is equal to 

Watch Video Solution

(secA + tanA)(secB + tanB)(secC + tanC) = (secA − tanA)(secB −

±1.

23. Prove the following identities:

+ + 1 =
cosA

1 − sinA

sinA

1 − cosA

sinA cosA

(1 − sinA)(1 − cosA)

((1 + cot A + tanA) = sin2 A cos2 A
sinA − cosA

sec3 A − cos ec3A

https://dl.doubtnut.com/l/_3FbaxTHc9jxu
https://dl.doubtnut.com/l/_WHXt3odPZVk3
https://dl.doubtnut.com/l/_FDwCxmD3JepC
https://dl.doubtnut.com/l/_RVb0G7kkI84u


Watch Video Solution

24. If 
prove that

Watch Video Solution

tan2 θ = 1 − a2, secθ + tan3 θ cos ecθ = (2 − a2)
3
2

25. If a  and 
 prove that


Watch Video Solution

secθ + btanθ + c = 0 p secθ + q tan θ + r = 0,

(br − qc)2 − (pc − ar)2 = (aq − bp)2

26. If 
show that 

Watch Video Solution

secθ + tan θ = p, = sin θ
p2 − 1

p2 + 1

27. If 
 show that sin θ + cos θ = pand secθ + cos ecθ = q,

q(p2 − 1) = 2p.

https://dl.doubtnut.com/l/_RVb0G7kkI84u
https://dl.doubtnut.com/l/_pguOuO7EPpyr
https://dl.doubtnut.com/l/_45M5KyBHg1ME
https://dl.doubtnut.com/l/_zpXLOB9n8wid
https://dl.doubtnut.com/l/_2nadIH3X8Q1h


Watch Video Solution

28. Without using trigonometric tables, evaluate each of the following:




Watch Video Solution

+ 2 cos ec2580 − 2cot 580tan 320 −
cos2 200 + cos2 700

sec2 500 − cot2 400

4tan 130tan 370tan 450tan 530tan 770

29. Without using trigonometric tables, evaluate each of the following:

Watch Video Solution

+ +
sin2 200 + sin2 700

cos2 200 + cos2 700

sin(900 − θ)sin θ

tan θ

cos(900 − θ)cos θ

cot θ

30. Prove the trigonometric identities:


Watch Video Solution

= (secθ − tan θ)
21 − sin θ

1 + sin θ

https://dl.doubtnut.com/l/_2nadIH3X8Q1h
https://dl.doubtnut.com/l/_47zYnNWSR5XC
https://dl.doubtnut.com/l/_l5ZksIim891d
https://dl.doubtnut.com/l/_FHbMIe9KL7b9


31. Prove the trigonometric identities:


Watch Video Solution

√ = cos ecθ − cot θ
1 − cos θ

1 + cos θ

32. If
  ,prove that :

Watch Video Solution

secθ = x +
1

4x
secθ + tan θ = 2x or ,

1

2x

33. Prove that :
 
`

Watch Video Solution

+ = 1
sin θ cos(900 − θ)cos θ

sin(900 − θ)

cos θ sin(900 − θ)sin θ

cos(900 − θ)

34. If 
obtain the values of  and 

Watch Video Solution

secθ + tan θ = x, secθ, tanθ sin θ.

https://dl.doubtnut.com/l/_gTpp9MnHkTQ3
https://dl.doubtnut.com/l/_CadbQDEUq8dW
https://dl.doubtnut.com/l/_BMB1H9Fl9Dab
https://dl.doubtnut.com/l/_wQLtjyCyvhAm


35. If ,find the value of

Watch Video Solution

sin θ + sin2 θ = 1

cos12 θ + 3 cos10 θ + 3 cos8 θ + cos6 θ + 2 cos4 θ + 2 cos2 θ − 2

36. If 
 then prove that 

Watch Video Solution

sin θ + sin2 θ + sin3 θ = 1,

cos6 θ − 4 cos4 θ + 8 cos2 θ = 4

37. If 
 prove that 

Watch Video Solution

cot θ + tan θ = xand secθ − cos θ = y,

(x2y) − (xy2)
2 / 3

= 1
2
3

38. If , then prove that: 
a cos θ − b sin θ = c

a sin θ + b cos θ = ± √a2 + b2 − c2

https://dl.doubtnut.com/l/_JFFxNaoYckNZ
https://dl.doubtnut.com/l/_AiUnjemC14yE
https://dl.doubtnut.com/l/_GPnqbeoyUxIF
https://dl.doubtnut.com/l/_5Av1g9zZavNi


Watch Video Solution

39. Prove the following identities:

Watch Video Solution

(sin θ + cos ecθ)2 + (cos θ + secθ)2 = 7 + tan2 θ + cot2 θ

40. Prove the following identities:

Watch Video Solution

+ = secθ cos ecθ + cot θ
sin θ

1 − cos θ

tan θ

1 + cos θ

41. Solve: 

Watch Video Solution

(1 + tan θ + secθ)(1 + cot θ − cos ecθ)

https://dl.doubtnut.com/l/_5Av1g9zZavNi
https://dl.doubtnut.com/l/_iW13A2ilEzgK
https://dl.doubtnut.com/l/_NzEITwcBRfgN
https://dl.doubtnut.com/l/_qMRo4YLlyVxJ


42. Prove the following identities:

Watch Video Solution

− = −
1

cos ecA − cot A

1

sinA

1

sinA

1

cos ecA + cot A

43. Prove the following trigonometric identities:

Watch Video Solution

= cos ecθ + cot θ
sin θ

1 − cos θ

44. Prove the following trigonometric identities:




Watch Video Solution

√ = secθ − tan θ
1 − sin θ

1 + sin θ
√ = cos ecθ + cot θ

1 + cos θ

1 − cos θ

45. Prove the following identities:
 


Watch Video Solution

=
1 − sin θ

1 + sin θ
(secθ − tan θ)2

https://dl.doubtnut.com/l/_ciHAoqNgrnOY
https://dl.doubtnut.com/l/_b4F9jeeXLQcS
https://dl.doubtnut.com/l/_InC7RQaIwY9Y
https://dl.doubtnut.com/l/_PN8tT5NVBzKF


46. If 
 and 
 prove that 

Watch Video Solution

cos ecθ − sin θ = l secθ − cos θ = m,

l2m2(l2 + m2 + 3) = 1

47. If tanA=ntanB and sinA=msinB, prove that 

Watch Video Solution

cos2 A =
m2 − 1

n2 − 1

48. If  and 
then prove that 

Watch Video Solution

x = a sin θ y = b tan θ, − = 1
a2

x2

b2

y2

49. If 
and 
show that 

Watch Video Solution

= m
cosα

cos β
= n

cosα

sinβ
(m2 + n2)cos2 β = n2

https://dl.doubtnut.com/l/_PN8tT5NVBzKF
https://dl.doubtnut.com/l/_7q6Q6UX1zPwz
https://dl.doubtnut.com/l/_IA3gqTsKUTFS
https://dl.doubtnut.com/l/_MA3cDXgk3axW
https://dl.doubtnut.com/l/_EBwH8Y43A6x9


50. Prove the following identities:


Watch Video Solution

cos4 A − cos2 A = sin4 A − sin2 A

51. Prove the following identities:


Watch Video Solution

+ = − 2
sin2 A

cos2 A

cos2 A

sin2 A

1

sin2 A cos2 A

52. If 
 prove that 

Watch Video Solution

x sin3 θ + y cos3 θ = sin θ cos θandx sin θ = y cos θ,

x2 + y2 = 1

53. If  and 
 prove that 

Watch Video Solution

cos ecθ − sin θ = m secθ − cos θ = n,

(m2n) + (mn2) = 1
2
3

2
3

https://dl.doubtnut.com/l/_ykc0Vh8zWSec
https://dl.doubtnut.com/l/_TTKzsRCdNSjO
https://dl.doubtnut.com/l/_HlUW4OSQqgbM
https://dl.doubtnut.com/l/_2afYhBrcmBji
https://dl.doubtnut.com/l/_Cn16cgZxefTP


54. Prove the following identities:

Watch Video Solution

+ = sinA + cosA
cosA

1 − tanA

sin2 A

sinA − cosA

55. Prove the following identities:

Watch Video Solution

= 2( )
(1 + sin θ)

2
+ (1 − sin θ)

2

cos2 θ

1 + sin2 θ

1 − sin2 θ

56. Prove the following identities:

Watch Video Solution

+ = 1 + sin θ cos θ
cos2 θ

1 − tan θ

sin3 θ

sin θ − cos θ

57. Prove the following identities:


Watch Video Solution

+ sin θ cos θ = 1
sin3 θ + cos3 θ

sin θ + cos θ

https://dl.doubtnut.com/l/_Cn16cgZxefTP
https://dl.doubtnut.com/l/_X6buyRELUnDQ
https://dl.doubtnut.com/l/_KROYtuB1YoNl
https://dl.doubtnut.com/l/_35kyckUpoKp5


58. Prove the following trigonometric identities:

Watch Video Solution

=
tan θ + sin θ

tan θ − sin θ

secθ + 1

secθ − 1

59. Prove the following identities:

Watch Video Solution

+ = cosA + sinA
cosA

1 − tanA

sinA

1 − cot A

60. Prove the following identities:

Watch Video Solution

+ = 1 + tanA + cot A = 1 + secA cos ecA
tanA

1 − cot A

cot A

1 − tanA

https://dl.doubtnut.com/l/_35kyckUpoKp5
https://dl.doubtnut.com/l/_uHqPhY8AtIgp
https://dl.doubtnut.com/l/_7sC6iCbzerYv
https://dl.doubtnut.com/l/_fAXVzY1C5ILZ


61. Prove the following trigonometric identities:

Watch Video Solution

cot θ − tan θ =
2 cos2 θ − 1

sin θ cos θ

62. Prove the following trigonometric identities:

Watch Video Solution

tan θ − cot θ =
2 sin2 θ − 1

sin θ cos θ

63. Prove the following identities:


Watch Video Solution

tan2 θ + cot2 θ + 2 = sec2 θ cos ec2θ

64. Prove the following identities:


Watch Video Solution

√sec2 θ + cos ec2θ = tan θ + cot θ

https://dl.doubtnut.com/l/_Fas6yocxUIWB
https://dl.doubtnut.com/l/_7ng8e2X35JxG
https://dl.doubtnut.com/l/_MAd4ScBywCYp
https://dl.doubtnut.com/l/_KFd2hIvcXjMV
https://dl.doubtnut.com/l/_96phOZYnIaAB


65. Prove the following identities:

Watch Video Solution

(sin θ + secθ)2 + (cos θ + cos ecθ)2 = (1 + secθ cos ecθ)2

66. Prove the following identities:


Watch Video Solution

(cos ecθ − cot θ)2 =
1 − cos θ

1 + cos θ

67. Prove the following identities:


Watch Video Solution

sec4 A − sec2 A = tan4 A + tan2 A

68. Prove the following identity:

Watch Video Solution

2 sec2 θ − sec4 θ − 2 cos ec2θ + cos ec4θ = cot4 θ − tan4 θ

https://dl.doubtnut.com/l/_96phOZYnIaAB
https://dl.doubtnut.com/l/_1huaxaqPO2qK
https://dl.doubtnut.com/l/_BawH2ylJHLmh
https://dl.doubtnut.com/l/_SH1CwlxhZbsd
https://dl.doubtnut.com/l/_rkWMIJxOaaPJ


69. Prove the following identities:

Watch Video Solution

(sin θ − secθ)2 + (cos θ − cos ecθ)2 = (1 − secθ cos ecθ)2

70. 

Watch Video Solution

+ = 2 cos ecθ
sin θ

1 + cos θ

1 + cos θ

sin θ

71. Prove the following identities:

Watch Video Solution

= sec2 θ − cos ec2θ = tan2 θ − cot2 θ
tan θ − cot θ

sin θ cos θ

72. Prove the following identities:


Watch Video Solution

= secθ + tan θ
1

secθ − tan θ

https://dl.doubtnut.com/l/_rkWMIJxOaaPJ
https://dl.doubtnut.com/l/_Xk4pROBjhGGY
https://dl.doubtnut.com/l/_vejBgKZBns3A
https://dl.doubtnut.com/l/_VKuTXrVNAYsY
https://dl.doubtnut.com/l/_ij1KE4XDncpf


73. Prove the following identities:

Watch Video Solution

= 1 − 2 secθ tan θ + 2 tan2 θ
secθ − tan θ

secθ + tan θ

74. Prove the following identities:


Watch Video Solution

=
tan θ + secθ − 1

tan θ − secθ + 1

1 + sin θ

cos θ

75. Prove the following identities:


Watch Video Solution

=
cot A + cos ecA − 1

cot A − cos ecA + 1

1 + cosA

sinA

76. Prove the following identities:


Watch Video Solution

= 2 +
sin θ

cot θ + cos ecθ

sin θ

cot θ − cos ecθ

https://dl.doubtnut.com/l/_ij1KE4XDncpf
https://dl.doubtnut.com/l/_PnUPwRSuqRJ3
https://dl.doubtnut.com/l/_Vn94MszFNkC2
https://dl.doubtnut.com/l/_0dneYZ1j3VT2


77. Prove the following identities:

Watch Video Solution

(cos ecθ − sin θ)(secθ − cos θ) =
1

tan θ + cot θ

78. Prove the following identities:


Watch Video Solution

= (cos ecθ − cot θ)
21 − cos θ

1 + cos θ

79. Prove the following identities:


Watch Video Solution

+ = 2 secθ
cos θ

1 − sin θ

cos θ

1 + sin θ

80. Prove the following identities:

Watch Video Solution

+ = = =
sinA + cosA

sinA − cosA

sinA − cosA

sinA + cosA

2

sin2 A − cos2 A

2

2 sin2 A − 1 1 −

https://dl.doubtnut.com/l/_AgJtuDFL5gAP
https://dl.doubtnut.com/l/_z4oOzBFtVkhO
https://dl.doubtnut.com/l/_SIvHnPHdiRLI
https://dl.doubtnut.com/l/_xIJGMCOkNX61
https://dl.doubtnut.com/l/_O4savdq8QffC


81. Prove the following identities:

Watch Video Solution

(cos ecθ − sin θ)(secθ − cos θ)(tan θ + cot θ) = 1

82. Prove that 

Watch Video Solution

tan θ =
sin θ − 2 sin3 θ

2 cos3 θ − cos θ

83. Prove the following identities:


Watch Video Solution

cot4 A − 1 = cos ec4A − 2 cos ec2A

84. Prove the following identities:


Watch Video Solution

sin4 A + cos4 A = 1 − 2 sin2 A cos2 A

https://dl.doubtnut.com/l/_O4savdq8QffC
https://dl.doubtnut.com/l/_Hasa2QrKh5Bq
https://dl.doubtnut.com/l/_0zVwI5Jjh00T
https://dl.doubtnut.com/l/_uI7qJ9Hr1XpD


85. Prove the following identities:

Watch Video Solution

sin4 A − cos4 A = sin2 A − cos2 A = 2 sin2 A − 1 = 1 − 2 cos2 A

86. Prove the following identities:


Watch Video Solution

sin6 A + cos6 A = 1 − 3 sin2 A cos2 A

87. Prove the following identities:


Watch Video Solution

sec4 A − sec2 A = tan4 A + tan2 A

88. Without using trigonometric tables, evaluate each of the following:

Watch Video Solution

+ tan 17 tan 38 tan 60 tan 52 tan 73 − 3(sin2 31 + sin2 59)
sec 39

cos ec51

2

√3

https://dl.doubtnut.com/l/_BFGRsVeskK4e
https://dl.doubtnut.com/l/_2hbsySbODSkw
https://dl.doubtnut.com/l/_MYJhJGFsEVio
https://dl.doubtnut.com/l/_h1ULV1OnsJHU
https://dl.doubtnut.com/l/_1YPLpYSpcg7q


89. Without using trigonometric tables, evaluate each of the following:

Watch Video Solution

−tan θ cot(900 − θ) + secθ cos ec(900 − θ) + sin2 350 + sin2 550

tan 100tan 200tan 300tan 700tan 800

90. Without using trigonometric tables, evaluate each of the following:

Watch Video Solution

+ 2 sin2 380 sec2 520 − sin2 450sec2 540 − cot2 360

cos ec2570 − tan2 330

91. Without using trigonometric tables, evaluate each of the following:

Watch Video Solution

cos ec2580 − cot 580tan 320 − tan 130tan 370tan 450tan 530tan 7702

3

2

3

5

3

92. Prove the
following trigonometric identities:
 (i)

(ii) 

(1 − sin2 θ)sec2 θ = 1

cos2 θ(1 + tan2 θ) = 1

https://dl.doubtnut.com/l/_1YPLpYSpcg7q
https://dl.doubtnut.com/l/_t1MvK8aI0CjX
https://dl.doubtnut.com/l/_7OWZ39XXTFoH
https://dl.doubtnut.com/l/_nYo0ZXHvEPXe


Watch Video Solution

93. Prove the
following trigonometric identities:


(ii) 

Watch Video Solution

cos2 θ + = 1
1

1 + cot2 θ

+ = 2 sec2 θ
1

1 + sin θ

1

1 − sin θ

94. Prove: 

Watch Video Solution

cos ec2θ + sec2 θ = cos ec2θ sec2 θ

95. Prove the
 following trigonometric identities :


(ii) 

Watch Video Solution

cot2 θ − = − 1
1

sin2 θ

(1 + tan2 θ)(1 + sin θ)(1 − sin θ) = 1

https://dl.doubtnut.com/l/_nYo0ZXHvEPXe
https://dl.doubtnut.com/l/_fdSvnzTXT6p1
https://dl.doubtnut.com/l/_RokqK0qyK8mW
https://dl.doubtnut.com/l/_LOUiP7Mk4GRv


96. Prove the
 following trigonometric identities :


(ii) 

Watch Video Solution

(1 + cot2 θ)(1 − cos θ)(1 + cos θ) = 1 tan2 θ − = − 1
1

cos2 θ

97. If 
 and 
 , prove
 that


Watch Video Solution

x = r sinA cosC,   y = r sinA sinC z = r cosA

r2 = x2 + y2 + z2

98. If 
 and 
 , prove
 that 

Watch Video Solution

a cos θ + b sin θ = m a sin θ − b cos θ = n

a2 + b2 = m2 + n2

99. If 
, prove
that 

Watch Video Solution

sin θ + sin2 θ = 1 cos2 θ + cos4 θ = 1

https://dl.doubtnut.com/l/_f7lBz2Z6DSGS
https://dl.doubtnut.com/l/_mCkF4ikK1SVE
https://dl.doubtnut.com/l/_14K80pe4MyN2
https://dl.doubtnut.com/l/_odG9ifO1QVEc


100. If 
 obtain the values of 
 in

terms of 
.

Watch Video Solution

secθ + tan θ = p, secθ, tan θ and sin θ

p

101. Prove the
 following identities:

Watch Video Solution

(i)cos θ sin(90o − θ) + sin θ cos(90o − θ) = 1

(ii)(sin(90o − θ)) − 1 = − sin2 θ
sin θ

tan θ

(iii) = 1 − sin2 θ
sin(90o − θ)cos(90o − θ)

tan θ

102. Prove: 

Watch Video Solution

(1 − cos2 A)cos ec2A = 1

https://dl.doubtnut.com/l/_odG9ifO1QVEc
https://dl.doubtnut.com/l/_tYC0ahxM9bll
https://dl.doubtnut.com/l/_OaQXPTLrXj4E
https://dl.doubtnut.com/l/_oZteJ9vyiFFw


103. Prove: 

Watch Video Solution

(1 + cot2 A)sin2 A = 1

104. Prove: 

Watch Video Solution

tan2 θ cos2 θ = 1 − cos2 θ

105. Prove: 

Watch Video Solution

cos ec θ√1 − cos2 θ = 1

106. Prove: 

Watch Video Solution

(sec2 θ − 1)(cos ec2θ − 1) = 1

107. Prove: tan θ + = secθ cos ec θ
1

tan θ

https://dl.doubtnut.com/l/_q6fGbLjBWVXT
https://dl.doubtnut.com/l/_jLLm8JoF61dA
https://dl.doubtnut.com/l/_R4Knipp17Hmp
https://dl.doubtnut.com/l/_B23NxAzI9MeL
https://dl.doubtnut.com/l/_BlXecLDqyG6o


Watch Video Solution

108. Prove: 

Watch Video Solution

=
cos θ

1 − sin θ

1 + sin θ

cos θ

109. Prove: 

Watch Video Solution

=
cos θ

1 + sin θ

1 − sin θ

cos θ

110. Prove: 

Watch Video Solution

cos2 A + = 1
1

1 + cot2 A

111. Prove: 

Watch Video Solution

sin2 A + = 1
1

1 + tan2 A

https://dl.doubtnut.com/l/_BlXecLDqyG6o
https://dl.doubtnut.com/l/_os2ImIhhnV4J
https://dl.doubtnut.com/l/_vRHoSsyp1Idu
https://dl.doubtnut.com/l/_ykuR6BjhATC5
https://dl.doubtnut.com/l/_6S6qWvVKN06I


112. Prove: 

Watch Video Solution

=
1 − cos θ

sin θ

sin θ

1 + cos θ

113. Prove: 

Watch Video Solution

= cos ec θ + cot θ
sin θ

1 − cos θ

114. Prove: 

Watch Video Solution

(cos ec θ + sin θ)(cos ec θ − sin θ) = cot2 θ + cos2 θ

115. Prove: 

Watch Video Solution

= cot θ
(1 + cot2 θ)tan θ

sec2 θ

116. Prove: (secθ + cos θ)(secθ − cos θ) = tan2 θ + sin2 θ

https://dl.doubtnut.com/l/_lAnOLsnHX4iP
https://dl.doubtnut.com/l/_RPFGJKpCWbGB
https://dl.doubtnut.com/l/_MBrpKXrBU9Fe
https://dl.doubtnut.com/l/_oiPUOk5RUS5l
https://dl.doubtnut.com/l/_0osbpUXnIpUf


Watch Video Solution

117. Prove: 

Watch Video Solution

secA(1 − sinA)(secA + tanA) = 1

118. Prove: 

Watch Video Solution

(cos ec A − sinA)(secA − cosA)(tanA + cot A) = 1

119. Find the value of 

Watch Video Solution

tan2 θ − sin2 θ − tan2 θ sin2 θ

120. Show : 

Watch Video Solution

(1 + tan2 θ)(1 + sin θ)(1 − sin θ) = 1

https://dl.doubtnut.com/l/_0osbpUXnIpUf
https://dl.doubtnut.com/l/_jjoVHvpgP7Ro
https://dl.doubtnut.com/l/_8AtwT49TVbvf
https://dl.doubtnut.com/l/_7xoL1xlyuDw3
https://dl.doubtnut.com/l/_34T41AMsXQrq
https://dl.doubtnut.com/l/_GZnSDWESoEhg


121. Prove: 

Watch Video Solution

sin2 A cot2 A + cos2 A tan2 A = 1

122. Prove the following trigonometric identities:

Watch Video Solution

cot θ − tan θ =
2 cos2 θ − 1

sin θ cos θ

123. Prove the following trigonometric identities:

Watch Video Solution

tan θ − cot θ =
2 sin2 θ − 1

sin θ cos θ

124. Prove: 

Watch Video Solution

− cos ec θ + sin θ = 0
cos2 θ

sin θ

https://dl.doubtnut.com/l/_GZnSDWESoEhg
https://dl.doubtnut.com/l/_OkOU4WnsoPII
https://dl.doubtnut.com/l/_kCPpWLD6E7cV
https://dl.doubtnut.com/l/_6J2iUPli352i


125. Prove: 

Watch Video Solution

+ = 2 sec2 A
1

1 + sinA

1

1 − sinA

126. Prove the following identities:


Watch Video Solution

+ = 2 secθ
cos θ

1 − sin θ

cos θ

1 + sin θ

127. Prove: 

Watch Video Solution

= ( )
2

= tan2 θ
1 + tan2 θ

1 + cot2 θ

1 − tan θ

1 − cot θ

128. Prove: 

Watch Video Solution

=
1 + secθ

secθ

sin2 θ

1 − cos θ

129. Prove: sec6 θ = tan6 θ + 3 tan2 θ sec2 θ + 1

https://dl.doubtnut.com/l/_4RR3Gj0s9J4M
https://dl.doubtnut.com/l/_LmvBTIDzb6UR
https://dl.doubtnut.com/l/_eXejxsE5klXF
https://dl.doubtnut.com/l/_YJ4DFZ7IyI3E
https://dl.doubtnut.com/l/_KcEYYyaPeqbm


Watch Video Solution

130. Prove: 

Watch Video Solution

cos ec6θ = cot6 θ + 3 cot2 θ cos ec2θ + 1

131. Prove that:

Watch Video Solution

= tan θ
(1 + tan2 θ)cot θ

cosec2θ

132. Prove: 

Watch Video Solution

=
1 + cosA

sin2 A

1

1 − cosA

133. Prove: 

Watch Video Solution

=
secA − tanA

secA + tanA

cos2 A

(1 + sinA)
2

https://dl.doubtnut.com/l/_KcEYYyaPeqbm
https://dl.doubtnut.com/l/_YbHwngG0Gpa0
https://dl.doubtnut.com/l/_KqSdzJHmF5lH
https://dl.doubtnut.com/l/_PWmqErYsKzSd
https://dl.doubtnut.com/l/_iHZDOagKeSOh


134. Prove: 

Watch Video Solution

=
1 + cosA

sinA

sinA

1 − cosA

135. Prove: 

Watch Video Solution

√ = secA + tanA
1 + sinA

1 − sinA

136. Prove: 

Watch Video Solution

√ + √ = 2 cos ec A
1 − cosA

1 + cosA

1 + cosA

1 − cosA

137. Prove: 

Watch Video Solution

(secA − tanA)2 =
1 − sinA

1 + sinA

https://dl.doubtnut.com/l/_3alTxhkRZjIm
https://dl.doubtnut.com/l/_XP5OK84S1e0A
https://dl.doubtnut.com/l/_RTEkGV2SfPND
https://dl.doubtnut.com/l/_sDWdVb15DJY5


138. Prove: 

Watch Video Solution

= (cot A − cos ec A)
21 − cosA

1 + cosA

139. Prove: 

Watch Video Solution

+ = 2 cos ec A cot A
1

secA − 1

1

secA + 1

140. Prove the following identities:

Watch Video Solution

+ = cosA + sinA
cosA

1 − tanA

sinA

1 − cot A

141. Prove: 

Watch Video Solution

+ = 2 sec2 A
cos ec A

cos ec A − 1

cos ec A

cos ec A + 1

https://dl.doubtnut.com/l/_4ckcLkJdSsGJ
https://dl.doubtnut.com/l/_gDRjNHNRvnOT
https://dl.doubtnut.com/l/_G8p5o30OybZ9
https://dl.doubtnut.com/l/_nnjpCVh6jrdp


142. Prove: 

Watch Video Solution

(1 + tan2 A) + (1 + ) =
1

tan2 A

1

sin2 A − sin4 A

143. Prove : 

Watch Video Solution

+ = 1
tan2 A

1 + tan2 A

cot2 A

1 + cot2 A

144. Prove that 

Watch Video Solution

=
cot A − cosA

cot A + cosA

cos ecA − 1

cos ecA + 1

145. 

Watch Video Solution

=
1 + cos θ + sin θ

1 + cos θ − sin θ

1 + sin θ

cos θ

146. Prove that: =
sin θ − cos θ + 1

sin θ + cos θ − 1

1

secθ − tan θ

https://dl.doubtnut.com/l/_GwpfJUTtxd9H
https://dl.doubtnut.com/l/_DVl8ZIUNO17n
https://dl.doubtnut.com/l/_PleSJaBIM2Mt
https://dl.doubtnut.com/l/_NoLkBHGo311I
https://dl.doubtnut.com/l/_kV5j4b4siOt6


Watch Video Solution

147. Prove that 

Watch Video Solution

= cosecθ + cot θ
cos θ − sin θ + 1

cos θ + sin θ − 1

148. Prove: 

Watch Video Solution

tan2 A + cot2 A = sec2 A cos ec2A − 2

149. Prove: 

Watch Video Solution

= tan2 A
1 − tan2 A

cot2 A − 1

150. Prove: 

Watch Video Solution

1 + = cos ec θ
cot2 θ

1 + cos ec θ

https://dl.doubtnut.com/l/_kV5j4b4siOt6
https://dl.doubtnut.com/l/_w7TxUYfoIMA7
https://dl.doubtnut.com/l/_jktuCtOe3qQl
https://dl.doubtnut.com/l/_EqqQC96x4nde
https://dl.doubtnut.com/l/_wREXuSQMpqZH


151. Prove: 

Watch Video Solution

+ = 2 tan θ
cos θ

cos ec θ + 1

cos θ

cos ec θ − 1

152. Prove: 

Watch Video Solution

= cot θ
1 + cos θ − sin2 θ

sin θ(1 + cos θ)

153. Prove: 

Watch Video Solution

+ = secθ cos ec θ − 2 sin θ cos θ
tan3 θ

1 + tan2 θ

cot3 θ

1 + cot2 θ

154. Prove: 

Watch Video Solution

(tan θ + )
2

+ (tan θ − )
2

= 2( )
1

cos θ

1

cos θ

1 + sin2 θ

1 − sin2 θ

https://dl.doubtnut.com/l/_yHth6HA2VUKf
https://dl.doubtnut.com/l/_WSjy8ngorjEN
https://dl.doubtnut.com/l/_wmoSgihdEQQD
https://dl.doubtnut.com/l/_53PVl9iddEQG


155. Prove the following identity:

Watch Video Solution

( + )sin2 θ cos2 θ =
1

sec2 θ − cos2 θ

1

cos ec2θ − sin2 θ

1 − sin2 θ cos2 θ

2 + sin2 θ cos2 θ

156. Prove: 

Watch Video Solution

( )
2

=
1 + sin θ − cos θ

1 + sin θ + cos θ

1 − cos θ

1 + cos θ

157. Prove: 

Watch Video Solution

(secA + tanA − 1)(secA − tanA + 1) = 2 tanA

158. Prove: 

Watch Video Solution

(1 + cot A − cos ec A)(1 + tanA + secA) = 2

https://dl.doubtnut.com/l/_dC2jBB1E1XE1
https://dl.doubtnut.com/l/_ScjQ7g1qPClT
https://dl.doubtnut.com/l/_BDFMt5y2qXI9
https://dl.doubtnut.com/l/_oiEXtmkdBrmw


159. Prove:

Watch Video Solution

(cos ec θ − secθ)(cot θ − tan θ) = (cos ec θ + secθ)(secθ cos ec θ − 2)

160. Prove:


.

Watch Video Solution

(secA − cos ec A)(1 + tanA + cot A) = tanA secA − cot A cos ec A

161. Prove:

Watch Video Solution

= cos ecA − secA
cosA cos ecA − sinA secA

cosA + sinA

162. Prove: 

Watch Video Solution

+ = 1
sinA

secA + tanA − 1

cosA

cos ec A + cot A − 1

https://dl.doubtnut.com/l/_eUmqaSvqA3rf
https://dl.doubtnut.com/l/_oJF107KjCYBp
https://dl.doubtnut.com/l/_zjSJEo6U0UXC
https://dl.doubtnut.com/l/_quCjylnro8mb
https://dl.doubtnut.com/l/_1ACzqCYNNepZ


163. Prove: 

Watch Video Solution

+ = sinA cosA
tanA

(1 + tan2 A)
2

cot A

(1 + cot2 A)
2

164. Prove: 

Watch Video Solution

sec4 A(1 − sin4 A) − 2 tan2 A = 1

165. Prove: 

Watch Video Solution

= sec2 A( )
cot2 A(secA − 1)

1 + sinA

1 − sinA

1 + secA

166. Prove: 

Watch Video Solution

sin2 A cos2 B − cos2 A sin2 B = sin2 A − sin2 B

167. Prove: = cot A tanB
cot A + tanB

cot B + tanA

https://dl.doubtnut.com/l/_1ACzqCYNNepZ
https://dl.doubtnut.com/l/_GETPzOMD882q
https://dl.doubtnut.com/l/_muBF95NynI3e
https://dl.doubtnut.com/l/_lvTr4h81wKFB
https://dl.doubtnut.com/l/_PRxXux16ptUq


Watch Video Solution

168. Prove: 

Watch Video Solution

= tanA tanB
tanA + tanB

cot A + cot B

169. Prove: 
.

Watch Video Solution

cot2 A cos ec2B − cot2 B cos ec2A = cot2 A − cot2 B

170. Prove: 

Watch Video Solution

tan2 A sec2 B − sec2 A tan2 B = tan2 A − tan2 B

171. If 
then show that 

Watch Video Solution

3 sin θ + 5 cos θ = 5, 5 sin θ − 3θ = ± 3.

https://dl.doubtnut.com/l/_PRxXux16ptUq
https://dl.doubtnut.com/l/_OoC0l9azUA3J
https://dl.doubtnut.com/l/_nM5Prsu0y4uW
https://dl.doubtnut.com/l/_q5vCDxJQAVs1
https://dl.doubtnut.com/l/_jhaNgDIESLnD


172. If 
and 
, prove
that 

Watch Video Solution

cos ec θ + cot θ = m cos ec θ − cot θ = n mn = 1

173. If  find the value of 

Watch Video Solution

cosA + cos2 A = 1, sin2 A + sin4 A.

174. Prove that: 

Watch Video Solution

√ + √ = 2 cos ec θ
secθ − 1

secθ + 1

secθ + 1

secθ − 1

175. Prove that 

Watch Video Solution

√ + √ = 2 secθ
1 + sin θ

1 − sin θ

1 − sin θ

1 + sin θ

https://dl.doubtnut.com/l/_M5BMDBUjwIr5
https://dl.doubtnut.com/l/_SD6jpIgs9DHJ
https://dl.doubtnut.com/l/_k1JGL4Hc9zzv
https://dl.doubtnut.com/l/_eH21WYdi9098


176. Prove that 

Watch Video Solution

√ + √ = 2 cos ecθ
1 + cos θ

1 − cos θ

1 − cos θ

1 + cos θ

177. Prove that:


Watch Video Solution

= ( )
2

secθ − 1

secθ + 1

sin θ

1 + cos θ

178. Given that:

Show that one of the values of each member of this equality is

Watch Video Solution

(1 + cosα)(1 + cos β)(1 + cos γ) = (1 − cosα)(1 − cos β)(1 − cos γ).

s ∈ αs ∈ βs ∈ γ.

179. If 
 and 
 , show thatx = a secθ cosφ,   y = b secθ sinφ z = c tan θ

+ − = 1
x2

a2

y2

b2

z2

c2

https://dl.doubtnut.com/l/_BhS0mTDeEPPb
https://dl.doubtnut.com/l/_4laMAOwHrBfG
https://dl.doubtnut.com/l/_8wu1mdBPJLQa
https://dl.doubtnut.com/l/_du6PlsZ8hegt


Watch Video Solution

180. If 
, find the
values of other trigonometric ratios.

Watch Video Solution

sin θ =
3

5

181. If 
, find the
values of 
and 
.

Watch Video Solution

cot θ =
9

40
cos ec θ secθ

182. If 
, find the
value of 

Watch Video Solution

cos θ =
1

2

2 secθ

1 + tan2 θ

183. If 
, find the
value of 

Watch Video Solution

tan θ =
12

5

1 + sin θ

1 − sin θ

https://dl.doubtnut.com/l/_du6PlsZ8hegt
https://dl.doubtnut.com/l/_18rI72iN5dui
https://dl.doubtnut.com/l/_2Vzv1JDTQQTw
https://dl.doubtnut.com/l/_4fif3y38XDBo
https://dl.doubtnut.com/l/_NNdqmgOz7EJm


184. If 
, find the
value of 

Watch Video Solution

sin θ =
3

5
(tan θ + secθ)2

185. If 
, find the
value of 

Watch Video Solution

tan θ =
3

4

1 − cos θ

1 + cos θ

186. If 
, find the
value of 
.

Watch Video Solution

cos θ =
3

5
cot θ + cos ec θ

187. If 
, determine
 
.

Watch Video Solution

sin θ + cos θ = √2 sin(90∘ − θ) cot θ

188. If 
, find the
value of 
.tan θ =
1

√7

cos ec2θ − sec2 θ

cos ec2θ + sec2 θ

https://dl.doubtnut.com/l/_Yx83fDXQKme7
https://dl.doubtnut.com/l/_Li5OWJiDx8s4
https://dl.doubtnut.com/l/_WlGzb1W3aAfr
https://dl.doubtnut.com/l/_8swzYtH9nDny
https://dl.doubtnut.com/l/_juqX4xwC703h


Watch Video Solution

189. If 
, find the
value of 
.

Watch Video Solution

tan θ + cot θ = 2 tan2 θ + cot2 θ

190. If 
, find the
value of 
.

Watch Video Solution

cos ec A = √2
2 sin2 A + 3 cot2 A

4 tan2 A − cos2 A

191. If = , 
, find the
values of 
and 

Watch Video Solution

sin θ
a

√a2 + b2
0 < θ < 90∘ cos θ tan θ

192. If 
, find all
other trigonometric ratios of angle 
.

Watch Video Solution

cos θ =
4

5
θ

https://dl.doubtnut.com/l/_juqX4xwC703h
https://dl.doubtnut.com/l/_Bn0etbjsdUfm
https://dl.doubtnut.com/l/_W9FCVplI38VF
https://dl.doubtnut.com/l/_csHdZdFQxCKj
https://dl.doubtnut.com/l/_boJnqFUht0gq


193. If 
, find all
other trigonometric ratios of angle 
.

Watch Video Solution

sin θ =
1

√2
θ

194. If 
, find the
value of 

Watch Video Solution

tan θ =
1

√2

cos ec2θ − sec2 θ

cos ec2θ + cot2 θ

195. If 
, find the
value of 

Watch Video Solution

tan θ =
3

4

1 − cos θ

1 + cos θ

196. If 
, find the
value of 

Watch Video Solution

tan θ =
12

5
1 + sin θ

1 − sin θ

https://dl.doubtnut.com/l/_svJVd5MQP47e
https://dl.doubtnut.com/l/_usYqitC2tKSb
https://dl.doubtnut.com/l/_SFBu3GBbGf3A
https://dl.doubtnut.com/l/_ef6z5OIS4UGN


197. If 
, find the
value of 

Watch Video Solution

cot θ =
1

√3

1 − cos2 θ

2 − sin2 θ

198. If 
, find the
value of 

Watch Video Solution

cos ec A = √2
2 sin2 A + 3 cot2 A

4(tan2 A − cos2 A)

199. If 
, find the
value of 

Watch Video Solution

cot θ = √3
cos ec2θ + cot2 θ

cos ec2θ − sec2 θ

200. If 
, find the
value of 

Watch Video Solution

3 cos θ = 1
6 sin2 θ + tan2 θ

4 cos θ

https://dl.doubtnut.com/l/_rXXa1VtUSjYq
https://dl.doubtnut.com/l/_CUBpLnykojxg
https://dl.doubtnut.com/l/_onZsscKjQhxJ
https://dl.doubtnut.com/l/_0ErOSy8bLXCt


201. If 

Watch Video Solution

√3 tan θ = 3 sin θ,  prove that (sin2 θ − cos2 θ) = .
1

3

202. If 
, find the
value of 

Watch Video Solution

cos ec θ =
13

12

2 sin θ − 3 cos θ

4 sin θ − 9 cos θ

203. If 
, find 
.

Watch Video Solution

sin θ + cos θ = √2 cos(90o − θ) cot θ

204. Define an
identity.

Watch Video Solution

205. What is the
value of 
?(1 − cos2 θ)cos ec2θ

https://dl.doubtnut.com/l/_BK3TH3GEcdSb
https://dl.doubtnut.com/l/_Tv1esQdk6xXh
https://dl.doubtnut.com/l/_OP3Gy9L8G00p
https://dl.doubtnut.com/l/_9jFeXQE9ASyO
https://dl.doubtnut.com/l/_7swAlfSyYEKE


Watch Video Solution

206. What is the
value of 
?

Watch Video Solution

(1 + cot2 θ)sin2 θ

207. What is the
value of 
?

Watch Video Solution

sin2 θ +
1

1 + tan2 θ

208. If 
, write the
value of 
in terms of
 
.

Watch Video Solution

secθ + tan θ = x secθ − tan θ x

209. If 
, write the
value of 
.

Watch Video Solution

cos ecθ − cot θ = α cos ec θ + cot θ

https://dl.doubtnut.com/l/_7swAlfSyYEKE
https://dl.doubtnut.com/l/_9ZSx2VQkQSqs
https://dl.doubtnut.com/l/_rpPsLAQ5Sjy3
https://dl.doubtnut.com/l/_qqd6RLhiYSLH
https://dl.doubtnut.com/l/_CeY4f63PTu65


210. Write the
value of 
.

Watch Video Solution

cos ec2(90o − θ) − tan2 θ

211. Write the
value of 
.

Watch Video Solution

sinA cos(90∘ − A) + cosA sin(90∘ − A)

212. Write the
value of 
.

Watch Video Solution

cot2 θ −
1

sin2 θ

213. If 
and 
, what is
the value of 
?

Watch Video Solution

x = a sin θ y = b cos θ b2x2 + a2y2

214. If 
, what is
the value of 
?sin θ =
4
5

cot θ + cos ec θ

https://dl.doubtnut.com/l/_f5I4jeyk6Hpo
https://dl.doubtnut.com/l/_qN32fHWqtVel
https://dl.doubtnut.com/l/_EqOMA6L67wTE
https://dl.doubtnut.com/l/_hRrOygt3QwtB
https://dl.doubtnut.com/l/_KtURUg1wu94W


Watch Video Solution

215. What is the
value of 
?

Watch Video Solution

9 cot2 θ − 9 cos ec2θ

216. What is the
value of 
?

Watch Video Solution

6 tan2 θ −
6

cos2 θ

217. What is the
value of 
?

Watch Video Solution

tan2 θ − sec2 θ

cot2 θ − cos ec2θ

218. What is the
value of 
?

Watch Video Solution

(1 + tan2 θ)(1 − sin θ)(1 + s ∈  θ)

https://dl.doubtnut.com/l/_KtURUg1wu94W
https://dl.doubtnut.com/l/_zbUTIwxgRo4H
https://dl.doubtnut.com/l/_LnCS9lceNqI4
https://dl.doubtnut.com/l/_rfKnquGkUNCJ
https://dl.doubtnut.com/l/_vRZm7EzbKD7q


219. If 
, find the
value of 
.

Watch Video Solution

cosA =
7
25

tanA + cot A

220. If 
, then find
the value of 
.

Watch Video Solution

sin θ =
1

3
2 cot2 θ + 2

221. If 
, then find
the value of 
.

Watch Video Solution

cos θ =
3

4
9 tan2 θ + 9

222. If 
, then find
the value of 
.

Watch Video Solution

sec2 θ(1 + sin θ)(1 − sin θ) = k k

223. If 
, then find
the value of 
.cos ec2θ(1 + cos θ)(1 − cos θ) = λ λ

https://dl.doubtnut.com/l/_rK8OzaDKrF4J
https://dl.doubtnut.com/l/_dFcT0slpA7Iz
https://dl.doubtnut.com/l/_heRZ7L5ACTCQ
https://dl.doubtnut.com/l/_YH8sHIabpNpt
https://dl.doubtnut.com/l/_zm1sIN2PHXj5


Watch Video Solution

224. If 
, then find
the value of 

.

Watch Video Solution

sin2 θ cos2 θ(1 + tan2 θ)(1 + cot2 θ) = λ λ

225. If 
and 
, find the
value of 
.

Watch Video Solution

5x = secθ = tan θ
5

x
5(x2 − )

1

x2

226. If 
and 
, find the
value of 

Watch Video Solution

cos ec θ = 2x cot θ =
2

x
2(x2 − )

1

x2

227. If 
, then 


(a) 



secθ + tan θ = x secθ =

x2 + 1
x

https://dl.doubtnut.com/l/_zm1sIN2PHXj5
https://dl.doubtnut.com/l/_x32YoR5dtLQQ
https://dl.doubtnut.com/l/_pSFos8LKU0fl
https://dl.doubtnut.com/l/_UUyLfbTUnOIb
https://dl.doubtnut.com/l/_pnk9oLGUEEOk


(b) 



(c) 



(d) 

Watch Video Solution

x2 + 1

2x
x2 − 1

2x
x2 − 1

x

228. If 
, then 


(a) 



(b) 



(c) 



(d) 

Watch Video Solution

secθ + tan θ = x tan θ =

x2 + 1

x

x2 − 1
x

x2 + 1
2x

x2 − 1

2x

229. 
is equal to


(a)secθ+tanθ


(b) secθ−tanθ
 



√
1 + sinθ

1 − sinθ

https://dl.doubtnut.com/l/_pnk9oLGUEEOk
https://dl.doubtnut.com/l/_Kuzxiq1lYDx4
https://dl.doubtnut.com/l/_j71lhx4wo7lW


(c) sec
2
θ+
tan
2
θ


(d) sec
2
θ−
tan
2
θ

Watch Video Solution

230. The value
of 
is



(a) 



(b) 


(c) 



(d) 

Watch Video Solution

√
1 + cos θ

1 − cos θ

cot θ − cos ec θ

cos ec θ + cot θ

cos ec2θ + cot2 θ

(cot θ + cos ec θ)
2

231. 
is equal to

Watch Video Solution

sec4 A − sec2 A

https://dl.doubtnut.com/l/_j71lhx4wo7lW
https://dl.doubtnut.com/l/_OxMKzur67CGr
https://dl.doubtnut.com/l/_YsOgUHcdC7dL


232. 
is equal to



(a) 



(b) 


(c) 



(d) 

Watch Video Solution

cos4 A − sin4 A

2 cos2 A + 1

2 cos2 A − 1

2 sin2 A − 1

2 sin2 A + 1

233. 
is equal to



(a) 



(b) 



(c) 



(d) 

Watch Video Solution

sin θ

1 + cos θ
1 + cos θ

sin θ
1 − cos θ

cos θ
1 − cos θ

sin θ
1 − sin θ

cos θ

234. 
 is equal to
 (a) 0 (b) 1 (c) 
 (d) +
sin θ

1 − cot θ

cos θ

1 − tan θ
sin θ + cos θ

sin θ − cos θ

https://dl.doubtnut.com/l/_RL8Y6h37tWpp
https://dl.doubtnut.com/l/_AOZBCL2x6ris
https://dl.doubtnut.com/l/_FgBCU2MJoszy


Watch Video Solution

235. The value
of 
is
(a) 1 (b) 2 (c)

4 (d) 0

Watch Video Solution

(1 + cot θ − cos ec θ)(1 + tan θ + secθ)

236. 
is equal to



(a) 



(b) 



(c) 



(d) 

Watch Video Solution

+
tan θ

secθ − 1

tan θ

secθ + 1

2 tan θ

2 secθ

2 cos ec θ

2 tanθ secθ

237. 
 is equal
 (a) 0 (b) 1 (c) 


(d) None of
these

W h Vid S l i

(cos ec θ − sin θ)(secθ − cos θ)(tan θ + cot θ)

−1

https://dl.doubtnut.com/l/_FgBCU2MJoszy
https://dl.doubtnut.com/l/_740ebTF2cHLf
https://dl.doubtnut.com/l/_R0O3CJqdyFlH
https://dl.doubtnut.com/l/_a99IhIaLfsM2


Watch Video Solution

238. If 
and 
, then 


(a) 



(b) 


(c) 



(d) 

Watch Video Solution

x = a cos θ y = b sin θ b2x2 + a2y2 =

a2b2

ab

a4 b4

a2 + b2

239. If 
and 
, then 


(a) 


(b) 



(c) 



(d) 

Watch Video Solution

x = a secθ y = b tan θ b2x2 − a2y2 =

ab

a2 − b2

a2 + b2

a2b2

https://dl.doubtnut.com/l/_a99IhIaLfsM2
https://dl.doubtnut.com/l/_JCNZqTq8hhGl
https://dl.doubtnut.com/l/_mmOT6TVu9ing


240.  is equal to

Watch Video Solution

+
cot θ

cot θ − cot 3θ

tan θ

tan θ − tan 3θ

241. 
is equal to 


(a) 
(b) 
(c) 
(d) None of
these

Watch Video Solution

2(sin6 θ + cos6 θ) − 3(sin4 θ + cos4 θ)

0 1 −1

242. If 
and 
, then 
=



(a) 


(b) 


(c) 


(d) None of
these

Watch Video Solution

a cos θ + b sin θ = 4 a sin θ − b cos θ = 3 a2 + b2

7

12

25

https://dl.doubtnut.com/l/_pdjdhwyWXDas
https://dl.doubtnut.com/l/_mm37YMCWzzPF
https://dl.doubtnut.com/l/_i1t9Xp4OlZpk


243. If 
 and 
 , then 




(a) 



(b) 



(c) 



(d) 

Watch Video Solution

a cot θ + bc o s e cθ = p b cot θ + ac o s e cθ = q

p2 − q2 =

a2 − b2

b2 − a2

a2 + b2

b − a

244. The value
 of 
 is
 (a) 1 (b) 0 (c) 
 (d) 

Watch Video Solution

sin2 29 ⊕ sin2 61o 2 sin2 29o

2 cos2 61o

245. If 
 , 
 and 
 , then
 (a)


 (b) 
 (c) 
 (d) 

Watch Video Solution

x = r sin θ cosφ y = r sin θ sinφ z = r cos θ

x2 + y2 + z2 = r2 x2 + y2 − z2 = r2 x2 − y2 + z2 = r2

z2 + y2 − x2 = r2

https://dl.doubtnut.com/l/_2XijGazUIVPH
https://dl.doubtnut.com/l/_YUddc7b8qv62
https://dl.doubtnut.com/l/_X9gMNJq0sVEb


Watch Video Solution

246. If 
, then 


(a) 



(b) 


(c) 


(d) None of
these

Watch Video Solution

sin θ + sin2 θ = 1 cos2 θ + cos4 θ =

−1

1

0

247. If 
and 
, then 


(a) 



(b) 



(c) 



(d) 

Watch Video Solution

a cos θ + b sin θ = m a sin θ − b cos θ = n a2 + b2 =

m2 − n2

m2n2

n2 − m2

m2 + n2

https://dl.doubtnut.com/l/_X9gMNJq0sVEb
https://dl.doubtnut.com/l/_RnYrWhYMMxG0
https://dl.doubtnut.com/l/_akRPfbVKOMWj


248. If 
, then 


(a) 



(b) 


(c) 


(d) None of
these

Watch Video Solution

cosA + cos2 A = 1 sin2 A + sin4 A =

−1

0

1

249. If 
 , 
 and 
 , then 


(a) 
(b) 
(c) 
(d) 

Watch Video Solution

x = a secθ cosφ y = b secθ sinφ z = c tan θ

+ =
x2

a2

y2

b2

z2

c2
1 −

z2

c2
− 1

z2

c2
1 +

z2

c2

250. If 
 , then 
(a)

(b) 
(c) 
(d) None of
these

Watch Video Solution

a cos θ − b sin θ = c a sin θ + b cos θ = ±√a2 + b2 + c2

±√a2 + b2 − c2 ±√c2 − a2 − b2

https://dl.doubtnut.com/l/_taJWtIYrwyp7
https://dl.doubtnut.com/l/_lvfg33gtCdvy
https://dl.doubtnut.com/l/_wcawQcHJyVOm
https://dl.doubtnut.com/l/_Z0qduytyLhlY


251. 
is equal to



(a) 1 

(b) 9 

(c) 8 

(d) 0

Watch Video Solution

9 sec2 A − 9 tan2 A

252. (1+tanθ+secθ)(
1+cotθ−cosec θ
)=
 
(a) 0               (b) 2         (c) 1             

(d) −1

Watch Video Solution

253. (
secA+tanA
)(
1−sinA
)=
(a)secA
(b) sinA
(c) cosec A
(d) cosA

Watch Video Solution

254. 
is equal to
 
(b) 
(c) 
(d) 
1 + tan2 A

1 + cot2 A
sec2 A −1 cot2 A tan2 A

https://dl.doubtnut.com/l/_Z0qduytyLhlY
https://dl.doubtnut.com/l/_ZOVNbJ9tEPuN
https://dl.doubtnut.com/l/_UdMIrequsN3Q
https://dl.doubtnut.com/l/_7H3BpIRiboqE


Watch Video Solution

https://dl.doubtnut.com/l/_7H3BpIRiboqE

